BID TABULATION Project: 2017-2018 Task Order Contract for Flatwork and Street Improvements														
Bid Opening: Tuesday, September 13, 2016 Owner: City of San Antonio Department of Transportation & Capital Improvements			San Antonio Concepts Construciton, LLC 5739 Greyrock Dr.		Pronto Sandblasting 9456 S. Presa San Antonio, TX 78223		J&P Paving Co., Inc. 5002 Sinclair Rd. San Antonio, TX 78222		Austin Constructors, LLC 7907 S. FM 973 Austin, TX 78719		Engineer's Estimate		Contracto	
Engineer: Lockwood, Andrews & Newnam, Inc. 10101 Reunion Place, Suite 200, San Antonio, Texas 78216-4165 (210) 499-5082 LAN Project No.: 120-11729-020			San Antonio, TX 78228 210-265-5763 LOWEST RESPONSIVE BIDDER		210-633-2035		210-648-4708		512-386-8690					
ITEM DESCRIPTION QUANTITY UNIT			UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	AVG UNIT PRICE	
112.00	BASE BID	QUANTITI	Olen	ONTTRICE	TOTAL	OHITTRICE	TOTAL	ONTTRIOE	TOTAL	ONITTRICE	TOTAL	ONTTRICE	TOTAL	AVOORITINOL
103.1	REMOVE CONCRETE CURB	71,500	LF	\$1.25	\$89,375.00	\$1.00	\$71,500.00	\$1.50	\$107,250.00	\$2.50	\$178,750.00	\$3.00	\$214,500.00	\$1.56
103.3	REMOVE SIDEWALKS & DRIVEWAYS	230,000	SF	\$1.40	\$322,000.00	\$1.50	\$345,000.00	\$1.75	\$402,500.00	\$2.00	\$460,000.00	\$2.50	\$575,000.00	\$1.66
103.4	REMOVE MISCELLANEOUS CONCRETE	1,500	SF	\$1.40	\$2,100.00	\$1.00	\$1,500.00	\$2.50	\$3,750.00	\$2.50	\$3,750.00	\$3.50	\$5,250.00	\$1.85
104.1	STREET EXCAVATION	150	CY	\$15.00	\$2,250.00	\$24.00	\$3,600.00	\$35.20	\$5,280.00	\$18.00	\$2,700.00	\$24.00	\$3,600.00	\$23.05
107.1	EMBANKMENT (FINAL) (DENS CONT) (TY B)	150 600	CY SY	\$14.00	\$2,100.00	\$12.00	\$1,800.00	\$10.00	\$1,500.00	\$22.00	\$3,300.00	\$16.50	\$2,475.00	\$14.50
200.1	FLEXIBLE BASE (6" COMPACTED DEPTH) PRIME COAT	500	GAL	\$7.00	\$4,200.00	\$8.00	\$4,800.00	\$17.67	\$10,602.00	\$5.00	\$3,000.00	\$10.00	\$6,000.00	\$9.42
202.1	TACK COAT	1,000	GAL	\$3.00 \$3.00	\$1,500.00	\$7.00 \$5.00	\$3,500.00	\$4.00 \$4.00	\$2,000.00	\$10.00 \$10.00	\$5,000.00	\$7.00 \$7.00	\$3,500.00	\$6.00 \$5.50
205.2	HOT MIX ASPHALTIC PAVEMENT TYPE B (6" THICK)	1,500	SY	\$3.00	\$3,000.00 \$45,000.00	\$34.00	\$5,000.00 \$51,000.00	\$33.23	\$4,000.00 \$49,845.00	\$10.00	\$10,000.00 \$39,000.00	\$7.00 \$35.00	\$7,000.00 \$52,500.00	\$30.81
205.4	HOT MIX ASPHALTIC PAVEMENT TYPE D (2" THICK)	4,000	SY	\$30.00 \$15.00	\$60,000.00	\$15.00	\$60,000.00	\$10.73	\$49,845.00	\$18.00	\$72,000.00	\$16.50	\$66,000.00	\$14.68
208.1	SALVAGING, HAULING AND STOCKPILING RECLAIMABLE ASPHALTIC PAVEMENT (2" - 3" DEPTH)	1,000	SY	\$7.00	\$7,000.00	\$10.00	\$10,000.00	\$7.59	\$7,590.00	\$6.00	\$6,000.00	\$15.00	\$15,000.00	\$7.65
209.1	CONCRETE PAVEMENT (10" THICK)	350	SY	\$65.00	\$22,750.00	\$100.00	\$35,000.00	\$100.00	\$35,000.00	\$85.00	\$29,750.00	\$92.00	\$32,200.00	\$87.50
500.1	CONCRETE CURB	68,880	LF	\$13.50	\$929.880.00	\$10.00	\$688.800.00	\$15.35	\$1,057,308.00	\$18.26	\$1,257,748.80	\$14.00	\$964.320.00	\$14.28
500.4	CONCRETE CURB AND GUTTER	1,000	LF	\$18.00	\$18,000.00	\$14.00	\$14,000.00	\$16.18	\$16,180.00	\$23.00	\$23,000.00	\$16.00	\$16,000.00	\$17.80
500.5	MOUNTABLE CURB	1,000	LF	\$17.00	\$17,000.00	\$20.00	\$20,000.00	\$20.07	\$20,070.00	\$23.00	\$23,000.00	\$18.00	\$18,000.00	\$20.02
502.1	CONCRETE SIDEWALKS	20,400	SY	\$42.00	\$856,800.00	\$59.00	\$1,203,600.00	\$38.14	\$778,056.00	\$44.00	\$897,600.00	\$45.10	\$920,040.00	\$45.79
502.1B	CONCRETE SIDEWALKS (COMMERCIAL STRENGTH)	1,000	SY	\$44.00	\$44,000.00	\$59.00	\$59,000.00	\$57.52	\$57,520.00	\$52.00	\$52,000.00	\$60.00	\$60,000.00	\$53.13
503.1	PORTLAND CEMENT CONCRETE DRIVEWAY	5,000	SY	\$44.00	\$220,000.00	\$40.00	\$200,000.00	\$44.32	\$221,600.00	\$46.00	\$230,000.00	\$50.00	\$250,000.00	\$43.58
503.2	PORTLAND CEMENT CONCRETE DRIVEWAY - COMMERCIAL	2,000	SY	\$46.00	\$92,000.00	\$43.00	\$86,000.00	\$57.52	\$115,040.00	\$58.00	\$116,000.00	\$55.00	\$110,000.00	\$51.13
505.1	CONCRETE RIPRAP (5" THICK)	300	SY	\$40.00	\$12,000.00	\$70.00	\$21,000.00	\$50.00	\$15,000.00	\$36.00	\$10,800.00	\$71.00	\$21,300.00	\$49.00
506.2	CONCRETE RETAINING WALLS - COMBINATION TYPE	100	CY	\$395.00	\$39,500.00	\$250.00	\$25,000.00	\$700.00	\$70,000.00	\$500.00	\$50,000.00	\$600.00	\$60,000.00	\$461.25
507.1	CHAIN LINK WIRE FENCE - 4 FT. HIGH	100	LF	\$13.00	\$1,300.00	\$15.00	\$1,500.00	\$16.00	\$1,600.00	\$3.00	\$300.00	\$13.00	\$1,300.00	\$11.75
507.2	CHAIN LINK WIRE FENCE - 6 FT. HIGH	100	LF	\$19.00	\$1,900.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$3.00	\$300.00	\$20.00	\$2,000.00	\$15.50
507.4	GATES - PEDESTRIAN	10 10	EA OPENING	\$275.00	\$2,750.00	\$100.00	\$1,000.00	\$300.00	\$3,000.00	\$175.00	\$1,750.00	\$275.00	\$2,750.00	\$212.50
507.5 508.1	GATES - VEHICULAR RELOCATING WIRE FENCE	100	LF	\$400.00	\$4,000.00	\$200.00	\$2,000.00	\$700.00 \$15.00	\$7,000.00	\$225.00 \$3.00	\$2,250.00	\$540.00	\$5,400.00	\$381.25 \$8.75
508.2A	RELOCATING WINE FENCE	100	LF	\$12.00 \$22.00	\$1,200.00 \$2,200.00	\$5.00 \$20.00	\$500.00 \$2,000.00	\$15.00	\$1,500.00 \$6,500.00	\$3.00	\$300.00 \$2,500.00	\$11.00 \$26.00	\$1,100.00 \$2,600.00	\$33.00
509.1	METAL BEAM GUARD RAIL	50	LF	\$100.00	\$5,000.00	\$80.00	\$4,000.00	\$90.00	\$4,500.00	\$50.00	\$2,500.00	\$58.00	\$2,800.00	\$80.00
509.1B	REMOVE AND RELOCATE EXISTING METAL BEAM GUARD RAIL	50	LF	\$25.00	\$1,250.00	\$40.00	\$2,000.00	\$16.00	\$800.00	\$50.00	\$2,500.00	\$35.00	\$1,750.00	\$32.75
509.1C	REMOVAL AND HAUL OFF OF METAL BEAM GUARD RAIL	50	LF	\$50.00	\$2,500.00	\$10.00	\$500.00	\$20.00	\$1.000.00	\$75.00	\$3.750.00	\$15.00	\$750.00	
510	TIMBER GUARD POSTS	30	EA	\$110.00	\$3,300.00	\$150.00	\$4,500.00	\$100.00	\$3,000.00	\$100.00	\$3,000.00			
512.1	ADJUSTING EXISTING MANHOLES (NON-SAWS)	6	EA	\$400.00	\$2,400.00	\$100.00	\$600.00	\$300.00	\$1,800.00	\$750.00	\$4,500.00	\$475.00	\$2,850.00	
512.3	VALVE BOX ADJUSTMENTS (NON-SAWS)	50	EA	\$150.00	\$7,500.00	\$100.00	\$5,000.00	\$250.00	\$12,500.00	\$150.00	\$7,500.00	\$210.00	\$10,500.00	\$162.50
513.1	REMOVING AND RELOCATING MAILBOX	200	EA	\$100.00	\$20,000.00	\$30.00	\$6,000.00	\$150.00	\$30,000.00	\$100.00	\$20,000.00	\$145.00	\$29,000.00	\$95.00
513.1A	DECORATIVE MAILBOX	50	EA	\$275.00	\$13,750.00	\$360.00	\$18,000.00	\$264.00	\$13,200.00	\$300.00	\$15,000.00	\$340.00	\$17,000.00	\$299.75
515.1	TOPSOIL	1,500	CY	\$30.00	\$45,000.00	\$18.00	\$27,000.00	\$20.00	\$30,000.00	\$22.00	\$33,000.00	\$25.00	\$37,500.00	\$22.50
516.1	BERMUDA SODDING	6,500	SY	\$8.50	\$55,250.00	\$6.00	\$39,000.00	\$5.00	\$32,500.00	\$6.50	\$42,250.00	\$6.00	\$39,000.00	\$6.50
516.2	ST. AUGUSTINE SODDING	6,500	SY	\$9.00	\$58,500.00	\$6.00	\$39,000.00	\$5.00	\$32,500.00	\$6.50	\$42,250.00	\$6.00	\$39,000.00	\$6.63
520.1	HYDROMULCHING CIDENALLY PIDE DAILING	500	SY	\$5.00	\$2,500.00	\$3.00	\$1,500.00	\$2.50	\$1,250.00	\$3.00	\$1,500.00	\$6.00	\$3,000.00	\$3.38
522.1	SIDEWALK PIPE RAILING ADJUSTING CHAIN LINK VEHICULAR GATE	100 20	LF OPENING	\$100.00	\$10,000.00	\$50.00	\$5,000.00	\$86.92	\$8,692.00	\$80.00	\$8,000.00	\$90.00	\$9,000.00	\$79.23
523.1 523.3	ADJUSTING CHAIN LINK VEHICULAR GATE ADJUSTING CHAIN LINK PEDESTRIAN GATE	20	EA EA	\$150.00	\$3,000.00	\$50.00	\$1,000.00	\$250.00	\$5,000.00	\$35.00	\$700.00	†	\$4,600.00	
523.4	ADJUSTING CHAIN LINK PEDESTRIAN GATE ADJUSTING WROUGHT IRON VEHICULAR GATE	5	EA	\$100.00 \$600.00	\$2,000.00 \$3.000.00	\$25.00 \$25.00	\$500.00 \$125.00	\$150.00 \$400.00	\$3,000.00 \$2.000.00	\$35.00 \$200.00	\$700.00 \$1.000.00	\$190.00 \$500.00	\$3,800.00 \$2.500.00	\$77.50 \$306.25
523.4	ADJUSTING WROUGHT IRON VEHICULAR GATE (MOTORIZED)	3	EA	\$1,200.00	\$3,000.00	\$25.00 \$100.00	\$125.00 \$300.00	\$400.00 \$500.00	\$2,000.00	\$200.00	\$1,000.00 \$3,600.00	\$500.00 \$1,300.00	\$2,500.00	\$306.25 \$750.00
523.6	ADJUSTING WROUGHT IRON PEDESTRIAN GATE	5	EA	\$1,200.00	\$1,500.00	\$50.00	\$250.00	\$300.00	\$1,500.00	\$1,200.00	\$1,750.00	\$300.00	\$3,900.00	\$250.00
524.1	CONCRETE STEPS	30	CY	\$200.00	\$6,000.00	\$250.00	\$7,500.00	\$300.00	\$9,000.00	\$500.00	\$15,000.00		\$10,500.00	
530.A	LEVEL II TRAFFIC CONTROL (FLASHING ARROW BOARD)	75	DAY	\$25.00	\$1,875.00	\$200.00	\$15,000.00	\$28.75	\$2,156.25	\$45.00	\$3,375.00	†	\$4,500.00	\$74.69
530.B	LEVEL III TRAFFIC CONTROL (TRUCK MOUNTED ATTENUATOR)	30	DAY	\$300.00	\$9,000.00	\$300.00	\$9,000.00	\$287.50	\$8,625.00	\$500.00	\$15,000.00	\$600.00	\$18,000.00	
535.1	4 INCH WIDE YELLOW LINE (SOLID)	150	LF	\$2.00	\$300.00	\$2.00	\$300.00	\$0.86	\$129.00	\$2.00	\$300.00	· · · · · · · · · · · · · · · · · · ·	\$450.00	\$1.72
535.2	4 INCH WIDE WHITE LINE (SKIP)	150	LF	\$2.00	\$300.00	\$2.00	\$300.00	\$0.86	\$129.00	\$2.00	\$300.00	\$3.00	\$450.00	\$1.72
535.2	4 INCH WIDE WHITE LINE (SOLID)	150	LF	\$2.00	\$300.00	\$2.00	\$300.00	\$0.86	\$129.00	\$2.00	\$300.00	\$3.00	\$450.00	\$1.72
535.4	8 INCH WIDE WHITE LINE (SOLID)	150	LF	\$3.00	\$450.00	\$5.00	\$750.00	\$1.73	\$259.50	\$4.50	\$675.00	\$4.00	\$600.00	\$3.56
535.5	12 INCH WIDE WHITE LINE (SOLID)	150	LF	\$4.00	\$600.00	\$8.00	\$1,200.00	\$2.88	\$432.00	\$5.50	\$825.00		\$900.00	Ţ0u
535.7	24 INCH WIDE WHITE LINE (SOLID)	150	LF	\$6.50	\$975.00	\$12.00	\$1,800.00	\$5.75	\$862.50	\$12.00	\$1,800.00	1	\$1,500.00	\$9.06
540.1	ROCK FILTER DAMS (INSTALL/REMOVE) (TYPE 2)	50	LF	\$35.00	\$1,750.00	\$80.00	\$4,000.00	\$17.38	\$869.00	\$25.00	\$1,250.00	\$50.00	\$2,500.00	\$39.35

BID TAB	JLATION													
Project: 2017-2018 Task Order Contract for Flatwork and Street Improvements Bid Opening: Tuesday, September 13, 2016 Owner: City of San Antonio Department of Transportation & Capital Improvements Engineer: Lockwood, Andrews & Newnam, Inc. 10101 Reunion Place, Suite 200, San Antonio, Texas 78216-4165 (210) 499-5082 LAN Project No.: 120-11729-020 ITEM DESCRIPTION QUANTITY UNIT			San Antonio Concepts		Pronto Sandblasting		J&P Paving Co., Inc.		Austin Constructors, LLC		Engineer's Estimate		Contracto	
			Construci				5002 Sinclair Rd.		7907 S. FM 973		gc. c _ca.c		Sontiacto	
			5739 Greyrock Dr. San Antonio, TX 78228 210-265-5763 LOWEST RESPONSIVE BIDDER UNIT PRICE TOTAL		San Antonio, TX 78223 210-633-2035		San Antonio, TX 78222 210-648-4708		Austin, TX 78719 512-386-8690					
														UNIT PRICE
					540.9	TEMPORARY SEDIMENT CONTROL FENCE (INSTALL/REMOVE)	250	LF	\$7.00	\$1,750.00	\$8.00	\$2,000.00	\$3.00	\$750.00
540.1	CURB INLET GRAVEL FILTERS	250	LF	\$4.00	\$1,000.00	\$8.00	\$2,000.00	\$10.00	\$2,500.00	\$5.00	\$1,250.00	\$8.00	\$2,000.00	\$6.75
552.1	REMOVING AND RELOCATING IRRIGATION SYSTEMS	5,000	LF	\$5.00	\$25,000.00	\$1.00	\$5,000.00	\$25.00	\$125,000.00	\$15.00	\$75,000.00	\$22.00	\$110,000.00	\$11.50
554.1	EROSION CONTROL MATTING	250	SY	\$11.00	\$2,750.00	\$12.00	\$3,000.00	\$3.00	\$750.00	\$8.00	\$2,000.00	\$9.00	\$2,250.00	\$8.50
556.1	CAST IN PLACE DETECTABLE WARNING SURFACE TILE	100	EA	\$100.00	\$10,000.00	\$210.00	\$21,000.00	\$150.00	\$15,000.00	\$100.00	\$10,000.00	\$155.00	\$15,500.00	\$140.00
801.2	LEVEL IIA PROTECTIVE FENCING	500	LF	\$10.00	\$5,000.00	\$3.00	\$1,500.00	\$10.00	\$5,000.00	\$10.23	\$5,115.00	\$12.50	\$6,250.00	\$8.31
801.3	LEVEL IIB PROTECTIVE FENCING	100	LF	\$10.00	\$1,000.00	\$24.00	\$2,400.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$18.00	\$1,800.00	\$18.50
802.1	LEVEL II PRUNING	25	EA	\$75.00	\$1,875.00	\$200.00	\$5,000.00	\$600.00	\$15,000.00	\$300.00	\$7,500.00	\$300.00	\$7,500.00	\$293.75
804	NEW TREE & SHRUB PLANTING & MAINTENANCE (3" CALIPER)	20	EA	\$350.00	\$7,000.00	\$700.00	\$14,000.00	\$900.00	\$18,000.00	\$500.00	\$10,000.00	\$650.00	\$13,000.00	\$612.50
9506	REMOVAL AND REPLACEMENT OF WROUGHT IRON FENCE	60	LF	\$20.00	\$1,200.00	\$95.00	\$5,700.00	\$175.00	\$10,500.00	\$65.00	\$3,900.00	\$95.00	\$5,700.00	\$88.75
SUP 1	REMOVING AND RELOCATING SIGN	100	EA	\$60.00	\$6,000.00	\$40.00	\$4,000.00	\$150.00	\$15,000.00	\$150.00	\$15,000.00	\$110.00	\$11,000.00	\$100.00
SUP 2	ELEVATED SIDEWALK	100	LF	\$250.00	\$25,000.00	\$180.00	\$18,000.00	\$180.00	\$18,000.00	\$125.00	\$12,500.00	\$200.00	\$20,000.00	\$183.75
SUP 3	SIDEWALK DRAIN BOX (1/2 INCH THICK)	10	EA	\$1,200.00	\$12,000.00	\$1,200.00	\$12,000.00	\$2,000.00	\$20,000.00	\$1,200.00	\$12,000.00	\$1,000.00	\$10,000.00	\$1,400.00
SUP 4	REMOVAL AND HAUL OFF OF EXISTING ROCK/MASONRY MAILBOX	50	EA	\$100.00	\$5,000.00	\$100.00	\$5,000.00	\$300.00	\$15,000.00	\$175.00	\$8,750.00	\$265.00	\$13,250.00	\$168.75
SUP 5	TREE REMOVAL (8" - 36" DIAMETER)	15	EA	\$400.00	\$6,000.00	\$700.00	\$10,500.00	\$900.00	\$13,500.00	\$1,000.00	\$15,000.00	\$850.00	\$12,750.00	\$750.00
SUP 6	TCI "AT WORK" PROJECT SIGN	6	EA	\$120.00	\$720.00	\$400.00	\$2,400.00	\$133.00	\$798.00	\$125.00	\$750.00	\$265.00	\$1,590.00	\$194.50
SUP 7	ADJUSTING TRAFFIC SIGNAL BOX	6	EA	\$200.00	\$1,200.00	\$700.00	\$4,200.00	\$300.00	\$1,800.00	\$300.00	\$1,800.00	\$355.00	\$2,130.00	\$375.00
SUP 8	POLICE OFFICER	40	HR	\$35.00	\$1,400.00	\$40.00	\$1,600.00	\$47.00	\$1,880.00	\$50.00	\$2,000.00	\$50.00	\$2,000.00	\$43.00
SUP 9	ADDITIONAL MOBILIZATION*	8	EA	\$500.00	\$4,000.00	\$5,000.00	\$40,000.00	\$2,500.00	\$20,000.00	\$1,500.00	\$12,000.00	\$2,600.00	\$20,800.00	\$2,375.00
SUP 10	REMOVE AND RELOCATE CUSTOMER SHUTOFF VALVE	15	EA	\$500.00	\$7,500.00	\$250.00	\$3,750.00	\$550.00	\$8,250.00	\$500.00	\$7,500.00	\$800.00	\$12,000.00	\$450.00
SUP 11	REMOVE AND RELOCATE BACKFLOW PREVENTER	15	EA	\$800.00	\$12,000.00	\$700.00	\$10,500.00	\$770.00	\$11,550.00	\$600.00	\$9,000.00	\$800.00	\$12,000.00	\$717.50
SUP 12	REMOVE AND RELOCATE PRESSURE REDUCING VALVE (PRV)	10	EA	\$500.00	\$5,000.00	\$600.00	\$6,000.00	\$550.00	\$5,500.00	\$500.00	\$5,000.00	\$800.00	\$8,000.00	\$537.50
SUP 13	TREE/SHRUB PRUNING	600	LF	\$10.00	\$6,000.00	\$15.00	\$9,000.00	\$15.00	\$9,000.00	\$50.00	\$30,000.00	\$15.00	\$9,000.00	\$22.50
SUP 14	PREMIUM LANDSCAPING	500	SY	\$50.00	\$25,000.00	\$20.00	\$10,000.00	\$8.00	\$4,000.00	\$100.00	\$50,000.00	\$60.00	\$30,000.00	\$44.50
	TOTAL COS	SA BID ITEMS:			\$3,238,800.00		\$3,312,075.00		\$3,590,722.25		\$4,012,751.30		\$4,000,005.00	
826	SAWS VALVE BOX ADJUSTMENT	50	EA	\$50.00	\$2.500.00	\$25.00	\$1,250.00	\$250.00	\$12,500.00	\$100.00	\$5,000.00	\$240.00	\$12,000.00	\$106.25
833	SAWS EXISTING METER AND METER BOX RELOCATION	25	EA	\$700.00	\$17,500.00	\$150.00	\$3,750.00	\$500.00	\$12,500.00	\$500.00	\$12,500.00	\$550.00	\$13,750.00	\$462.50
833A	SAWS ADJUSTING EXISTING METER BOX	200	EA	\$50.00	\$10,000.00	\$25.00	\$5,000.00	\$200.00	\$40.000.00	\$100.00	\$20.000.00	\$155.00	\$31,000.00	\$93.75
834.3	RELOCATE FIRE HYDRANT	10	EA	\$2,500.00	\$25,000.00	\$2,800.00	\$28,000.00	\$3,300.00	\$33,000.00	\$2,300.00	\$23,000.00	\$3,000.00	\$30,000.00	\$2,725.00
834.3B	RELOCATE FIRE HYDRANT WITH NEW FIRE HYDRANT	5	EA	\$5,250.00	\$26,250.00	\$5,000.00	\$25,000.00	\$6,600.00	\$33,000.00	\$3,000.00	\$15,000.00	\$6,500.00	\$32,500.00	\$4,962.50
	TOTAL SAWS WATE	R BID ITEMS:			\$81,250.00		\$63,000.00		\$131,000.00		\$75,500.00		\$119,250.00	
851	ADJUSTING EXISTING MANHOLES (SAWS)	10	EA	\$400.00	\$4,000.00	\$350.00	\$3,500.00	\$300.00	\$3,000.00	\$750.00	\$7,500.00	\$600.00	\$6,000.00	\$450.00
854A	ADJUSTING EXISTING SEWER CLEANOUT	10	EA	\$50.00	\$500.00	\$300.00	\$3,000.00	\$250.00	\$2,500.00	\$750.00	\$7,500.00	\$500.00	\$5,000.00	\$337.50
	TOTAL SAWS SEWER BID ITEMS:				\$4,500.00		\$6,500.00	_	\$5,500.00		\$15,000.00		\$11,000.00	
	TOTAL SAV	 /S BID ITEMS:			\$85,750.00		\$69,500.00		\$136,500.00		\$90,500.00		\$130,250.00	
									,		•		,	
	TOTAL BASE BID				\$3,324,550.00		\$3,381,575.00		\$3,727,222.25		\$4,103,251.30		\$4,130,255.00	

BID TABULATION

Project: 2017-2018 Task Order Contract for Flatwork and Street Improvements

Bid Opening: Tuesday, September 13, 2016 Owner: City of San Antonio Department of Transportation & Capital Improvements

Engineer: Lockwood, Andrews & Newnam, Inc. 10101 Reunion Place, Suite 200, San Antonio, Texas 78216-4165 (210) 499-5082

LAN Project No.: 120-11729-020

ITEM	DESCRIPTION	QUANTITY	UNIT	TOTAL
	BASE BID			
102.1	DEMOVE CONCRETE CLIPP	71 500	LF	0444 740 75
103.1	REMOVE CONCRETE CURB REMOVE SIDEWALKS & DRIVEWAYS	71,500 230,000	SF	\$111,718.75
103.3	REMOVE SIDEWALKS & DRIVEWATS REMOVE MISCELLANEOUS CONCRETE	1,500	SF	\$382,375.00
103.4		1,500	CY	\$2,775.00
-	STREET EXCAVATION			\$3,457.50
107.1	EMBANKMENT (FINAL) (DENS CONT) (TY B) FLEXIBLE BASE (6" COMPACTED DEPTH)	150	CY SY	\$2,175.00
200.1	, ,	600		\$5,650.50
202.1	PRIME COAT	500	GAL	\$3,000.00
203.1	TACK COAT	1,000	GAL	\$5,500.00
205.2	HOT MIX ASPHALTIC PAVEMENT TYPE B (6" THICK)	1,500	SY SY	\$46,211.25
205.4	HOT MIX ASPHALTIC PAVEMENT TYPE D (2" THICK)	4,000	51	\$58,730.00
208.1	SALVAGING, HAULING AND STOCKPILING RECLAIMABLE ASPHALTIC PAVEMENT (2" - 3" DEPTH)	1,000	SY	\$7,647.50
209.1	CONCRETE PAVEMENT (10" THICK)	350	SY	\$30,625.00
500.1	CONCRETE CURB	68,880	LF	\$983,434.20
500.4	CONCRETE CURB AND GUTTER	1,000	LF	\$17,795.00
500.5	MOUNTABLE CURB	1,000	LF	\$20,017.50
502.1	CONCRETE SIDEWALKS	20,400	SY	\$934,014.00
502.1B	CONCRETE SIDEWALKS (COMMERCIAL STRENGTH)	1,000	SY	\$53,130.00
503.1	PORTLAND CEMENT CONCRETE DRIVEWAY	5,000	SY	\$217,900.00
503.2	PORTLAND CEMENT CONCRETE DRIVEWAY - COMMERCIAL	2,000	SY	\$102,260.00
505.1	CONCRETE RIPRAP (5" THICK)	300	SY	\$14,700.00
506.2	CONCRETE RETAINING WALLS - COMBINATION TYPE	100	CY	\$46,125.00
507.1	CHAIN LINK WIRE FENCE - 4 FT. HIGH	100	LF	\$1,175.00
507.2	CHAIN LINK WIRE FENCE - 6 FT. HIGH	100	LF	\$1,550.00
507.4	GATES - PEDESTRIAN	10	EA	\$2,125.00
507.5	GATES - VEHICULAR	10	OPENING	\$3,812.50
508.1	RELOCATING WIRE FENCE	100	LF	\$875.00
508.2A	RELOCATING WROUGHT IRON FENCE	100	LF	\$3,300.00
509.1	METAL BEAM GUARD RAIL	50	LF	\$4,000.00
509.1B	REMOVE AND RELOCATE EXISTING METAL BEAM GUARD RAIL	50	LF	\$1,637.50
509.1C	REMOVAL AND HAUL OFF OF METAL BEAM GUARD RAIL	50	LF	\$1,937.50
510	TIMBER GUARD POSTS	30	EA	\$3,450.00
512.1	ADJUSTING EXISTING MANHOLES (NON-SAWS)	6	EA	\$2,325.00
512.3	VALVE BOX ADJUSTMENTS (NON-SAWS)	50	EA	\$8,125.00
513.1	REMOVING AND RELOCATING MAILBOX	200	EA	\$19,000.00
513.1A	DECORATIVE MAILBOX	50	EA	\$14,987.50
515.1	TOPSOIL	1,500	CY	\$33,750.00
516.1	BERMUDA SODDING	6,500	SY	\$42,250.00
516.2	ST. AUGUSTINE SODDING	6,500	SY	\$43,062.50
520.1	HYDROMULCHING	500	SY	\$1,687.50
522.1	SIDEWALK PIPE RAILING	100	LF	\$7,923.00
523.1	ADJUSTING CHAIN LINK VEHICULAR GATE	20	OPENING	\$2,425.00
523.3	ADJUSTING CHAIN LINK PEDESTRIAN GATE	20	EA	\$1,550.00
523.4	ADJUSTING WROUGHT IRON VEHICULAR GATE	5	EA	\$1,531.25
523.5	ADJUSTING WROUGHT IRON VEHICULAR GATE (MOTORIZED)	3	EA	\$2,250.00
523.6	ADJUSTING WROUGHT IRON PEDESTRIAN GATE	5	EA	\$1,250.00
524.1	CONCRETE STEPS	30	CY	\$9,375.00
530.A	LEVEL II TRAFFIC CONTROL (FLASHING ARROW BOARD)	75	DAY	\$5,601.56
530.B	LEVEL III TRAFFIC CONTROL (TRUCK MOUNTED ATTENUATOR)	30	DAY	\$10,406.25
535.1	4 INCH WIDE YELLOW LINE (SOLID)	150	LF	\$257.25
535.2	4 INCH WIDE WHITE LINE (SKIP)	150	LF	\$257.25
535.2	4 INCH WIDE WHITE LINE (SOLID)	150	LF	\$257.25
535.4	8 INCH WIDE WHITE LINE (SOLID)	150	LF	\$533.63
535.5	12 INCH WIDE WHITE LINE (SOLID)	150	LF	\$764.25
535.7	24 INCH WIDE WHITE LINE (SOLID)	150	LF	\$1,359.38
540.1	ROCK FILTER DAMS (INSTALL/REMOVE) (TYPE 2)	50	LF	\$1,967.25

r Average



BID TABULATION

Project: 2017-2018 Task Order Contract for Flatwork and Street Improvements

Bid Opening: Tuesday, September 13, 2016 Owner: City of San Antonio Department of Transportation & Capital Improvements

Engineer: Lockwood, Andrews & Newnam, Inc. 10101 Reunion Place, Suite 200, San Antonio, Texas 78216-4165 (210) 499-5082

LAN Project No.: 120-11729-020

	120 11120 020							
ITEM	DESCRIPTION	QUANTITY	UNIT	TOTAL				
540.9	TEMPORARY SEDIMENT CONTROL FENCE (INSTALL/REMOVE)	250	LF	\$1,515.63				
540.1	CURB INLET GRAVEL FILTERS	250	LF	\$1,687.50				
552.1	REMOVING AND RELOCATING IRRIGATION SYSTEMS	5,000	LF	\$57,500.00				
554.1	EROSION CONTROL MATTING	250	SY	\$2,125.00				
556.1	CAST IN PLACE DETECTABLE WARNING SURFACE TILE	100	EA	\$14,000.00				
801.2	LEVEL IIA PROTECTIVE FENCING	500	LF	\$4,153.75				
801.3	LEVEL IIB PROTECTIVE FENCING	100	LF	\$1,850.00				
802.1	LEVEL II PRUNING	25	EA	\$7,343.75				
804	NEW TREE & SHRUB PLANTING & MAINTENANCE (3" CALIPER)	20	EA	\$12,250.00				
9506	REMOVAL AND REPLACEMENT OF WROUGHT IRON FENCE	60	LF	\$5,325.00				
SUP 1	REMOVING AND RELOCATING SIGN	100	EA	\$10,000.00				
SUP 2	ELEVATED SIDEWALK	100	LF	\$18,375.00				
SUP 3	SIDEWALK DRAIN BOX (1/2 INCH THICK)	10	EA	\$14,000.00				
SUP 4	REMOVAL AND HAUL OFF OF EXISTING ROCK/MASONRY MAILBOX	50	EA	\$8,437.50				
SUP 5	TREE REMOVAL (8" - 36" DIAMETER)	15	EA	\$11,250.00				
SUP 6	TCI "AT WORK" PROJECT SIGN	6	EA	\$1,167.00				
SUP 7	ADJUSTING TRAFFIC SIGNAL BOX	6	EA	\$2,250.00				
SUP 8	POLICE OFFICER	40	HR	\$1,720.00				
SUP 9	ADDITIONAL MOBILIZATION*	8	EA	\$19,000.00				
SUP 10	REMOVE AND RELOCATE CUSTOMER SHUTOFF VALVE	15	EA	\$6,750.00				
SUP 11	REMOVE AND RELOCATE BACKFLOW PREVENTER	15	EA	\$10,762.50				
SUP 12	REMOVE AND RELOCATE PRESSURE REDUCING VALVE (PRV)	10	EA	\$5,375.00				
SUP 13	TREE/SHRUB PRUNING	600	LF	\$13,500.00				
SUP 14	PREMIUM LANDSCAPING	500	SY	\$22,250.00				
	TOTAL COSA BID ITEMS:							
826	SAWS VALVE BOX ADJUSTMENT	50	EA	\$5,312.50				
833	SAWS EXISTING METER AND METER BOX RELOCATION	25	EA	\$11,562.50				
833A	SAWS ADJUSTING EXISTING METER BOX	200	EA	\$18,750.00				
834.3	RELOCATE FIRE HYDRANT	10	EA	\$27,250.00				
834.3B	RELOCATE FIRE HYDRANT WITH NEW FIRE HYDRANT	5	EA	\$24,812.50				
	TOTAL SAWS WA	ATER BID ITEMS:	1	\$87,687.50				
851	ADJUSTING EXISTING MANHOLES (SAWS)	10	EA	\$4,500.00				
854A	ADJUSTING EXISTING SEWER CLEANOUT	10	EA	\$3,375.00				
55 171	TOTAL SAWS SEWER BID ITEMS:							
	TOTAL S	AWS BID ITEMS:	1	\$95,562.50				
	1	OTAL BASE BID]	\$3,634,149.64				
		C.AL DAGE DID	•	ψυ,υυ τ , 173.0 1				

r Average

